r 3 ()
A8 =0l Z4
1. 20 9] o0 mlS F A 2ta & o, [ [ote] € ER-SE s N A

7187} Soj7ko} ohe 229 dAA AR A = B

{x]|z= 28 1] 79] Bl
® 3[ ]4 @ Al 4 ® 6] |4 g, ¥ B7HE S Ae

A BT TEH?
@ 1] ]A ® 7] ]A

2.

T A A=1{1,2,3,4,6,7} , B=1{1,3,6,9} o tis}
o] ANB 9 AU B 7} Sut27] #x]o]7 729

® AnB : {1,3}, AUB={1,2,3,4,6,7,9}
@ AnB : {1,2,3}, AUB={1,2,3}

® ANB : {1,2,3,4,6,7,9}, AUB=1{1,3,6}
@ AnB : {1,3,6}, AUB={1,2,3,4,6,7,9}
®A N B {1,3,6y, A U

B : {1,2,3,4,5,6,7,8,9}

T A% A, B ol Wt B = {afat 69 o5}
o)1, AUB = {zfa=129 %5}, AN B =
{zlrt 3015ke] 45} 4w, A A o] Yol g

@ 16 ® 20

@ {o} @ {7,14}

® {1,14,21} @ {7,14,21}

® {7,14,21,28}

@ {2}
@ {{7}}

@ {3,4,50 @ {3}

® {3, 5, 7}




6. ACBolllBCcAY W, F
ol o upEs e 212

=
b

A, B o Hatq n(A) = 15, n(AUB) =
20, n(ANB) =8 4 W, n(B)=?
@13 @14 @15 O 16

® 12

A% A, B2 tol

)

8. FHT A=1{1,a, b 15}, B =1{2, 3a, b—2} °l
thote] A—B={3, 5} L ul, a, b | FE 27} o}

ofzt.

9. {{o}.1,2,{1,2},{a}
st & F &2 A2

O oecA @ {0}cA
® {1,2}c4 @ {1} e A
® {g}cA

® {zlzE 3 x z = 0% A4}
@ {z|lzw 11 <z < 129 A5}

® {zlrE z <19 A4S}

|2 948 e A A 9




11.% A

@A B7MACB BcAd
AL (Hh A+ 2, B#o, Ux AA%

a8

o, £7

59

F O
1

15.

© AnB=A

® ANB=AUB
® n(AUB) =n(B)  ® n(4)

=n(ANB)
® AUB=A-B

]

o
so

Il
I‘[o /—éH

)
o

%} ofl thatod

3¢ @ 4€cA

®7¢A
@ 10¢A

®17e A

2t 20 01349 cel W) o

o5}

s Sk L9

AT

® 166

— {(a, b) |axb=09, a b= AA
= ul2 A 28t 209

=

=y
1

® 7

= Fﬁ EOII

ne ‘_,>,

A={1,2,345

U:H ]'olq_—/r\—n_q] ]7111\._19—_,7

@9 ® 11

@ 13




